
SP54-182

HITCH MOUNT  
STABILIZER

INSTALLATION INSTRUCTIONS



A collaboration with Winfield RV Products, the X-Brace Hitch Mount Stabilizer is designed 
to provide enhanced lateral support to stabilize motorized units when parked.

WARNING

WARNING

WARNING

PREPARATION

General Safety & Warnings:

	 	      �Read and understand all instructions and warnings prior to installation.  

		       �You are personally responsible for following safe installation procedures and 
completing appropriate safety checks.

		       Be sure the unit is leveled properly before proceeding.

HITCH MOUNT STABILIZER
INSTALLATION INSTRUCTIONS

PARTS LISTING

INTRODUCTION

HITCH TUBE ASSEMBLY

PIVOT TUBE ASSEMBLY

FOOT PAD

LATCH BRACKET

INNER EXTENSION TUBE

B-ST-3/8-16x2 1/4 HHCS PT ZINC GR5

N-ST-3/8-16 HEX NYLOCK ZINC GR8

1/4x1-3/4 RD RETAINER PIN W/ TAB ZN 

RATCHET STRAP

SP56-442

SP56-444

SP57-783

SP209-2148

SP214-704

UO115-014

UO116-092

UO136-1925

UO136-3412

Item      Qty           Part#                     Description

1

2

3

4

5

6

7

8

9

1

2

2

1

2

4

4

2 

1

Tools Required:

  • (2) 9/16" Wrench

  •  9/16" Socket



SP54-182  |  2

574.293.1581 • MORryde.com •

HITCH MOUNT STABILIZER
INSTALLATION INSTRUCTIONS

574.293.1581 • MORryde.com •

6

2

10



HITCH MOUNT STABILIZER
INSTALLATION INSTRUCTIONS

ASSEMBLY

STEP 1   �Slide each smaller tube assembly into 
each pivot tube assembly to make the 
adjustable legs.

STEP 2  �Attach one side of the latch bracket to 
one adjustable leg using the retainer 
pin. Use the other retainer pin to attach 
the other side of the latch bracket to  
the other adjustable leg.

STEP 3  �On the end of one adjustable leg with an 
eye bolt, attach the foot weldment using 
the 3/8”-16 x 2 1/4 bolt. Secure the bolt in 
place by attaching the 3/8”-16 Nyloc nut 
and using (2) 9/16” wrenches to tighten 
the nut. Repeat this step to attach the foot 
weldment to the other adjustable leg. 
 
NOTE:  
Do not tighten the nuts completely. The foot 
weldment should be able to pivot freely.

ASSEMBLY



SP54-182  |  4

HITCH MOUNT STABILIZER
INSTALLATION INSTRUCTIONS

STEP 4  �Attach the hitch tube assembly to the end of 
one adjustable leg (the end furthest from the 
eye bolt). With the hitch tube assembly in place, 
slide a 3/8”-16 x 2 1/4 bolt into the adjustable leg. 
Secure the bolt in place by attaching the 3/8”-16 
Nyloc nut and using (2) 9/16” wrenches to tighten 
the nut. Repeat this step to attach the hitch tube 
assembly to the other adjustable leg. 
 
NOTE:  
Do not tighten the nuts completely. Legs should be able to 
extend outward from the assembly during installation.

574.293.1581 • MORryde.com •



HITCH MOUNT STABILIZER
INSTALLATION INSTRUCTIONS

ASSEMBLY
INSTALLATION

STEP 1   �Locate the receiver on the rear end of the unit and remove 
the cotter pin. Slide the hitch tube on the X-Brace assembly 
into the receiver and replace the cotter pin.

STEP 2  �Pull the retainer pin on one side of the X-Brace assembly to 
release it from the latch bracket.

STEP 3  �Extend the leg outward from the assembly until the foot can 

be placed on the ground. 

STEP 4  �Replace the retainer pin by pushing it into the leg of the assembly.

STEP 5  �Extend the leg outward from the assembly 

until the foot can be placed on the ground. 

STEP 6  �Hook one end of the ratchet strap to the  
slot in the foot pad on one side of the assembly.  
Repeat this on the other side. Tighten the 
ratchet strap.



SP54-182  |  6

574.293.1581 • MORryde.com •

Questions? Contact the Parts Department at 574-293-1581 or email parts@morryde.com.

•  �The X-Brace Hitch Mount Stabilizer can be removed and stored or left on the unit. 
If left on, the ratcheting strap will need to be stored away. 

•  Follow the installation steps in opposite order for proper removal.

REMOVAL

HITCH MOUNT STABILIZER
INSTALLATION INSTRUCTIONS



At MORryde, we have a passion for solving problems. Whether we’re fabricating custom 

solutions, modifying a commercial chassis, or creating our innovative products, we answer 

to a wide range of markets and deliver on a variety of needs. At MORryde, it’s simply 

about doing MORE for our customers, and it doesn’t stop at the sale. We stand behind our 

products, believing in quality first, service always. No matter the issue, we’ll be the first to 

respond and the last to be satisfied. In short, we build better — together.

SP54-182  |  VERSION 4


